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Department of Biochemistry, Virginia Tech

http://www.bevanlab.biochem.vt.edu/Pages/Personal/justin/gmx-tutorials/lysozyme/

R miaEE AL ST HPCEHEESRSHETOTS A 2



SCLSEH &Y 27 AOGROMACS Gscs

SCLSEEH Y X T A1 VX ~— )L CL SGROMACS

GROMACS 4.5.6 GROMACS 4.6.2

BE - BRBE
e MPI e MPI
e OpenMP

% GROMACSDOIVY R&IC, YD vw O [_mpi_dJ HMYEET,
X INTOIVY FTHHIENTEERSRTIEHD D FIE A
(pdb2gmx(FZEIR, mdrun(EMPIIL5. etc..)

GROMACSZ{ERd SIc¥Ic

V3RO T RICATDERZEN (IRIEZEHDEF)
[GROMACS 4.5.6)

module load Gromacs/4.5.6

[GROMACS 4.6.2)

module load Gromacs/4.6.2
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| 1AKI_noHOH.pdb |
O —DE>%

db2gmx

E

[ processed.gro ] [ topol.top ]

editconf

{

[ newbox.gro ]

¥Ialb—->3~

Ky OIDES enbox

[*

[ solv.gro ]

[ topol.top ]
v

rom

[ ions.tpr ]

[ topol.top ]
v

RDEFTPR

[ solv_ion.gro ] [ topol.top ]

TIRIF—rMb

mdrun

[ topol.top ]
¥

[ enmgn:]

(NPT P> 1> T )L,

mdrun MPI

@SCLS

[ topol.top ]

[ npt.gro ]
v
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GROMACS 4.6.2

REIRE D% R

n . BRI 7ILERBNULIZT + LD kU lec_gromacs%
[userl@scls ~]$ cp -r ~namiuchi/lec/lec_gromacs . ALY T« LD RYICOE—

[userl@scls ~]$ cd lec_gromacs ALY T« LD RUZE, DE—UClec_gromacsT « LD RUICERE
[userl@scls lec_gromacs]$ Is -IF ALY T« UD FUDABERT

total 4
drwxrwxr-x 2 userl groupl 62 Aug 1 15:55 full/ ECABLEEEERMLTNDT LY ~Y

drwxrwxr-x 2 userl groupl 122 Aug 1 15:48 mdp/ MD/NDS A =BT 7 A )L TCNDT 1 LD U

drwxrwxr-x 2 userl groupl 27 Jul 25 16:38 pdb/ PDBD 7 1 ILZBHILCNDT v LD R

drwxrwxr-x 2 userl groupl 4096 Aug 1 16:16 script/ Y3TROVTHEBMLTNDT « LD KU

[userl@scls lec_gromacs]$

?- IRZITEAEARIE R HPCIETE RS ETO IS A



DEEls (2)

|\//

(SDSCLS

EBCHERBIDII TV

U sERYsT S N FIaT
o DADES =AY S 2 YT NoFYad
ROERIPF0 REHYIT Production MD Ny FI3T
TRILF—HIME INyFI3T BZHT (g_energyS5) =5EEY3T

=z 5
[=]
LNV

N7/

X GROMACSOVY FEIFEIC. MFDOX vy EZ—INRRSNFET,

JwelO050i-w The hardware barrier couldn®t be used and continues processing using the software barrier.

FX10[CEESNTND/N— ROz PN PHEEDMNATERNBESEICRTSINE T, (FLIBLFASTOMPZFALSEICERE L TNDIEH)
EMEICREREID D FE A,

R @i BE AR ST HPCE S ERRSHE TINS5 A 7

RIKEH
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[userl@scls lec_gromacs]$ pjsub --interact —L ‘“node=1" --mpi *‘proc=1"
[INFO] PJM 0000 pjsub Job 6282 submitted.

[INFO] PJM 0081 .connected.

[INFO] PJM 0082 pjsub Interactive job 6282 started.
[user1@a01-008 lec_gromacs]$ module load Gromacs/4.6.2

GROMACSIRIBZ H (D%
[user1@a01-008 lec_gromacs]$ export FLIB_FASTOMP=FALSE T =

GROMACSIOVY Y RDETT

[userl@a01-008 lec _gromacs]$ exit B3 TDRRT
[INFO] PJM 0083 pjsub Interactive job 6282 completed.
[userl@scls lec_gromacs]$




MO Y —DERK

topol.top
(FIROY—=2 71

1AKI_noHOH.pdb processed.gro
(Protein Data BankZ7 A JL) #EIT 7))

posre.itp
(WIBIRBEHR D 7 1 )L)

$ pdb2gmx_mpi_d —F pdb/1AKl noHOH.pdb —o processed.gro
:-) G R O M A C S (-:

Select the Force Field:

From "/usr/local/gromacs-4.6.2/share/gromacs/top”:

15: OPLS-AA/L all-atom force field (2001 aminoacid dihedrals)
15

NIBDIEE

Select the Water Model:
5: SPC/E extended simple point charge KETILDIBE
5

Total charge 8.000 e
Writing topology




RO Y —DER [ERITHROMER]

ROV —2J 71 )L

$ less topol.top

; Include forcefield parameters
#include "oplsaa.ff/forcefield.itp”

[ moleculetype ]
; Name nrexcl
Protein_chain_A K]

[ atoms ]

s I 7 1)l

$ less processed.gro
LYSOZYME
1960

1LYS 1 3.537 2.234 -1.198
1LYS 2 3.612 2.288 -1.236
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Y21 L—va YRy I RDEES Ssas

topol.top topol.top

(FROY—D 7)) (FROY—D 7))
genbox
processed.gro editconf newbox.gro solv.gro

HBEI 7)) (57 7 1) KEED 7))

$ editconf _mpi_d -f processed.gro —c -bt cubic -d 1.0 -o newbox.gro
-) G R OM A C S (-:

Ry D 2O = 11754
Ry D2 EBEDRIEIEEE = 1.0nm

new center - 3.505 3.505 3.505 (nm)

new box vectors : 7.010 7.010 7.010 (nm)

new box angles : 90.00 90.00 90.00 (degrees)
new box volume : 344.48 (nm"3)

$ genbox_mpi_d -cp newbox.gro -cs spc2l6.gro -p topol.top -o solv.gro
:-) G R OM A C S (-:
B8 = K (spc216.gro)

Grid: 16 x 16 x 16 cells
Adding line for 10832 solvent molecules to topology file (topol.top)
$




YXaUb—Y3 Uy D ADER [E1THEROER]

ROV —2J 71 )L

$ diff ¥#topol.top.1# topol.top
18402c18402
< LYSOZYME

> LYSOZYME iIn water

18406a18407

> SOL 10832
$ less topol.top
:18402G

s 71 I

$ Is -1 processed.gro newbox.gro solv.gro
-rw-rw-r-- 1 userl groupl 88246 Jul 11 17:22 newbox.gro
-rw-rw-r-- 1 userl groupl 88246 Jul 11 17:00 processed.gro

-rw-rw-r-- 1 userl groupl 1550566 Jul 11 17:23 solv.gro
$

[editconT]
processed.gro — newbox.gro .. 1hw 2 ZDPIMNIZDXDICEIRZEH

[genbox]
newbox.gro — solv.gro .. K&810
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(5) SCLS

topol.top
(FROY =2 7)) (FROY=2D21))

ions.tpr .
solv.gro ﬁ,_o s-tp solv_ions.gro
. (ERITADIT 7)) -

s 71V grompp ST 7))

ions.mdp mdout.mdp genion.log
(MD/XS%—5D 71 L) MD/NSX =527 1)) (@T2I 74

$ grompp_mpi_d -f mdp/ions.mdp -c solv.gro -p topol.top -0 ions.tpr
-) G R OM A C S (-:

Calculating fourier grid dimensions for X Y Z
Using a fourier grid of 60x60x60, spacing 0.117 0.117 0.117
This run will generate roughly 3 Mb of data

$ mpiexec —stdin script/genion_in.txt genion_mpi_d -s ions.tpr -p topol.top
-nname CL -nn 8 -0 solv_ions.gro
-) G R OM A C S (-:

Select a continuous group of solvent molecules L AVEANEZ BSE UT. Bl 0K Eise
Group 13 ( SOL) has 32496 elements (script/genion_in.txt C13&$55%E)
Select a group: 13

Y3TEGTDIS— Ay —INRHZINDD, VEBETT




ROBEIPI0 [RITHEROMER]

ROV —2J 71 )L

$ diff ¥#topol.top.2# topol.top
18407c18407,18408
< SOL 10832

> SOL 10824

> CL 8 KD FZ8EEIFR L C. CLZSIELEN
$ less topol.top

:18407G

s P71

$ less solv_ions.gro
-G

10953S0L HW234432
10954CL CL34433
10955CL CL34434
10956CL CL34435
10957CL CL34436
10958CL CL34437
10959CL CL34438
10960CL CL34439
10961CL CL34440

KD Fa8EREIFRL T, CLZ8E:EN

OO UINDNOOOU
P WOOUIFRL AN
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T RILF—@I\E [grompp]

topol.top
(FROY=2D21))

solv_ions.gro
S 7))

minim.mdp
(MD/XS % =852 71 L)

grompp

em.tpr
(EGTADT 7))

mdout.mdp
(MD/XS % =852 71 L)

MD/N\DX—5 T 21 )b

(S)SCLS

em.edr
(IRIVF=T »1)L)

em.gro
(Hi&ED 71 )L)
mdrun
em.log

(BT271)V)

em.trr
(FSYTDOEUDPA))

[userl@scls lec_gromacs]$ less mdp/minim.mdp

integrator = steep

emtol = 1000.0

?- IRZITEAEARIE R HPCIETE RS ETO IS A

ol RNE (Steepest descent)

Maximum forcen'1000 KJ/mol/mmZzZ RO -2 5# 7T



TRILE—BIME [grompp] Gsas

V3JROUJE (ERY3D)

[userl@scls lec_gromacs]$ cat script/grompp_minim.sh
#1/bin/sh

pjsub options
#PJIM -L "rscgrp=small” JN)— 27— Tsmall]
#PIM -L "node=1" R/ —F& 1]
#PIM -L "elapse=10:00" RARBIEE 1053
REIS—EHZEREDRNICEITD

Program Execution
module load Gromacs/4.6.2

GROMACSIRIZEZ ¥ (DERE
export FLIB FASTOMP=FALSE

grompp_mpi_d -f mdp/minim.mdp -c solv_ions.gro -p topol.top -0 em.tpr gromppMZE1T

Y 3 J DIz A CIARENES

[userl@scls lec_gromacs]$ pjsub script/grompp_minim.sh
[INFO] PJM 0000 pjsub Job 6293 submitted.
[userl@scls lec _gromacs]$ pjstat

VEPESRIE

[userl@scls lec_gromacs]$ less grompp_minim.sh.o

ﬁ IRZITEAEARIE R HPCIETE RS ETO IS A



TRI)ILF—1@I\E [ndrun]

()/) SCLS

em.edr
(IRILFE=T 2+ IL)

topol.top
(FROY—=D71)1) em.gro
. (Hi&ED 71 )L)
solv_ions.gro em.tpr
(52 P71 L) Sronp EETANT 7)) porug em.log
.. (@II771))
mgnm.mdp mdout.mdp
(MD/XS X =52 %1 L) (MD/XS X =52 71 L) em.trr

V30T (MPIIFY 3 7)

[userl@scls lec_gromacs]$ cat script/mdrun_minim.sh
#1/bin/sh
pjsub options
-L “rscgrp=small” Y —2)b—" Tsmall]
-L "node=1" AR/ — k& 1]
--mpi "'proc=16" JOER¥ 16
-L "elapse:lo:OO" RARERE 1079

BREIS—BHERELNDICHITD

Program Execution
module load Gromacs/4.6.2

GROMACSIRIZEZ H(DEEE
export FLIB_FASTOMP=FALSE

mpiexec mdrun_mpi_d -v -deffnm em mdrunD=1T

ﬁ IRZITEAEARIE R HPCIETE RS ETO IS A
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TRI)ILF—1@I\E [ndrun]

Y 3 J DIz A\ CIARETESD

[userl@scls grolec]$ pjsub script/mdrun_minim.sh
[INFO] PJM 0000 pjsub Job 6293 submitted.
[userl@scls grolec]$ pjstat

ACCEPT QUEUED STGIN READY RUNING RUNOUT STGOUT HOLD ERROR TOTAL
0 0 0 0 1 0 0 0 0 1
S 0 0 0 0 1 0 0 0 0 1

JOB_ID JOB_NAME MD ST USER START_DATE ELAPSE_LIM NODE_REQUIRE
6293 mdrun_mini NM RUN userl 07/26 17:37:18 0000:10:00 1

Y 3 JRTHR

[userl@scls lec _gromacs]$ less em.log

Steepest Descents converged to Fmax < 1000 in 884 steps

Potential Energy -6.03680902877939e+05

Maximum force 9.66569539375539e+02 on atom 736 BIVEDIER
Norm of force 2.11987691589411e+01




TRILF—@IE [EITIER O]

em.edr

(IRILF—DT 7P

- )L)

g_energy

[userl@scls lec_gromacs]$ pjsub --interact
[INFO] PJM 0000 pjsub Job 6282 submitted.
[INFO] PJM 0081 .connected.
[INFO] PJM 0082 pjsub Interactive job 6282 started.
[userl@a01-008 lec_gromacs]$ module load Gromacs/4.6.2
[user1@a01-008 lec_gromacs]$ g energy mpi_d —F em.edr —o potential.xvg
-) G R OM A C S (-:

17
21
25
29
33

10 O

Coul .-recip.

Vir-XY
Vir-YZ

14
18

Pres-XX 22
Pres-YY 26
Pres-7Z7 30

Mu-Z

34

Coulomb-14
Potential
Vir-XZ
Vir-zZX
Pres-XY
Pres-YZ
#Surf*SurfTen
T-rest

10ZDPotential Z3EIR,. O[FADRT

[user1@a01-008 lec_gromacs]$ exit

RIKEH

e IRZITEAEARIE R HPCIETE RS ETO IS A

Proper-Dih.
LJI-(SR)
Pressure
Vir-YX
Vir-z2Y
Pres-XZ
Pres-zX
Mu-X

(§) SCLS

potential.xvg
(fHET =52 7))

Ryckaert-Bell.
Coullomb-(SR)
Vir-xx

Vir-YY

Vir-Z2Z
Pres-YX
Pres-2Y

Mu-Y



TRILE—BIME [RTERORIA Gsas

Energy Minimization
1AKI, Steepest Descent

-350000 T T

| |
Potential Energy ——

-400000

I
|

-450000 .

-500000

T
|

ot (kI mol™)

T
|

3 -550000

-600000

T
|

_650000 | | | | | | | |
0 100 200 300 400 500 600 700 800 900

EM Step
75721 . potential .xvgZgnuplot CTXRR
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e - NVT P92l [grompp]

topol.top
(FROY=D21))

em.gro
5T 1)) grompp

nvt.tpr
EIFTADIT P AI)

nvt.mdp
(MD/XS % =521 L)

mdout.mdp
(MD/XS % =871 L)

MD/NSX—SH T 7 1)U

[userl@scls lec_gromacs]$ less mdp/nvt.mdp

mdrun

(§) SCLS

nvt.edr

(TRILVF=D71))

nvt.gro
(Hi&ED 71 )L)

nvt.log
(@II771))

nvt.trr

(SO EUTPAIV)

nvt.cpt

(FTYIRAYET2A))

tcoupl = V-rescale
pcoupl = no

gen_vel = yes

nsteps = 5000

11111

RERT =YK

Pressure couplingld’s L

HEBRE & A BX

%ﬁﬂ%ﬁeﬁ [Z10ps (2fs x 5000)
XEZDLOHICRELE

SELTNET



e - NVT P92l [grompp]

V3JROUT L (BRI 3D)

[userl@scls lec_gromacs]$ cat script/grompp_nvt.sh
#1/bin/sh

pjsub option
#PIM -L "rscgrp=small™ Y —=2T)—" [small]
#PJM -L "node=1" fem/ — & 1)

EpIM L olansec10-00" SARLERE (105
J elapse=10:00 TETS_PHEEESHCETS

Program execution

modulle load Gromacs/4.6.2
GROMACSIRIBZ I DIRE

export FLIB_FASTOMP=FALSE

grompp_mpi_d -f mdp/nvt.mdp -c em.gro -p topol.top -0 nvt.tpr gromppDEFT

Y3 TwA

[userl@scls grolec]$ pjsub script/grompp_nvt.sh
[INFO] PJM 0000 pjsub Job 6293 submitted.
[userl@scls grolec]$ pjstat

VEPESRIE

[userl@scls lec_gromacs]$ less grompp _nvt.sh.o

ﬁ IRZITEAEARIE R HPCIETE RS ETO IS A



L - NVT P92 J)L [Imdrun]

topol.top
(FROY—=T 7 1)L
em.gro nvt.tpr
(& 7 1)) grompp (EGTADT 7)) mdrun
nvt.mdp mdout.mdp
MD/T5X—57 7 1)U) (MD/X5 % =52 71 L)

Y 3JR0UJ L (MPlI5) Y 37)

R

RIKEH

[userl@scls lec_gromacs]$ cat script/mdrun_nvt.sh
#1/bin/sh
pjsub options
-L “rscgrp=smal I JY—22)b—=" Tsmall
-L "node=2"" ER/—F# 2]
--mpi "proc=32" JOs2# 32

--mpi "rank-map-bychip" & J— EAQTOLROEDIRD DIEE

BRAFBRE 1079

-L "elapse=10:00 TETS_WHEEEL AT

Program Execution

module load Gromacs/4.6.2
GROMACSIR IR ZHDEEE

export FLIB_FASTOMP=FALSE

mpiexec mdrun_mpi_d -v -deffnm nvt mdrunD=4T

IRZITEAEARIE R HPCIETE RS ETO IS A

(§) SCLS

nvt.edr
(TRIVF=DT71)V)

nvt.gro
(Hi&ED 71 )L)

nvt.log
@T27+1)V)

nvt.trr
(FSYTDRUTPAI)

nvt.cpt
(FTvIOMRAIY TPV




T - NVTP Y52 7)L [mdrun]

Y 3 J DIz A\ CIARETESD

[userl@scls lec_gromacs]$ pjsub script/mdrun_nvt.sh
[INFO] PJM 0000 pjsub Job 6293 submitted.
[userl@scls lec_gromacs]$ pjstat

ACCEPT QUEUED STGIN READY RUNING RUNOUT STGOUT HOLD ERROR TOTAL
0 0 0 0 1 0 0 0 0 1
S 0 0 0 0 1 0 0 0 0 1

JOB_ID JOB_NAME MD ST USER START_DATE ELAPSE_LIM NODE_REQUIRE
6293 mdrun_nvt. NM RUN userl 07/26 17:37:18 0000:10:00 2

Y 3 JRTHR

[userl@scls lec_gromacs]$ less nvt.log

Core t (s) wall t (s) (€D)
Time: 13805.400 575.713 2398.0
(QELEND) (hour/ns)
Performance: 15.008 1.599
Finished mdrun on node O Fri Jul 26 17:47:17 2013




T - NVTP YUY YT [T R0

nvt.edr temperature.xvg
(ZRIVF=T 7)) g_tnergy (FHET =52 7))

[userl@scls lec_gromacs]$ pjsub --interact

[INFO] PJM 0000 pjsub Job 6282 submitted.

[INFO] PJM 0081 .connected.

[INFO] PJM 0082 pjsub Interactive job 6282 started.

[userl@a01-008 lec_gromacs]$ module load Gromacs/4.6.2

[user1@a01-008 lec_gromacs]$ g _energy mpi_d —F nvt.edr —o temperature.xvg
-) G R O M A C S (-:

Proper-Dih. Ryckaert-Bell.
Coulomb-14 LJ-(SR) Disper.-corr. Coulomb-(SR)
Coul .-recip. 10 Position-Rest. Potential Kinetic-En.
Total-Energy 14 Conserved-En. Temperature Pres.-DC
Pressure 18 Constr.-rmsd Vir-XX Vir-XY

41 Lamb-non-Protein
150 158 DTemperatureZriE R, O[T A DR T

[user1@a01-008 lec _gromacs]$ exit




TEHE - NVTP VYY)l [ ER0R) ©sas

Temperature
1AKI, NVT Ensemble

310 T

300 -

290 -

280 - -

270 - -

Temperature (K)

260 |- =

250 ] ] ] ]
0 20 40 60 80 100

Time (ps)
7522, temperature.xvgZzgnuplot THRMR
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T - NPTPYH Y7L [erompp) Gsas

npt.edr
topol.top (IRIVF=D 71V
(FROY=T 7 1)L
npt.gro
nvt.gro (18557 7 1 L)
(&I 71 )V)
npt.tpr npt.log
nvt.cpt grompp EIFTADIT P AI) md run @777+
(FyIMAY TP
mdout.mdp . npt.:crr
npt.mdp (MD/ Y5 X =57 7 L) (59T VI
MD/XSA—=8T 71)L) npt.cpt

(FTYIRAYET2A))

MD/NSAXA—SH T 7 1)U

[userl@scls lec_gromacs]$ less mdp/npt.mdp

tcoupl = V-rescale R I

pcoupl = Parrinello-Rahman /\JXxRO«S5—9Y V%
continuation = yes NV T E & B S HEfR
gen_vel = no REIFER LIS

nsteps = 3000 E1785E(d6ps (2fs x 3000)

KEEBDLHICRESFBELUCUNET

P; IRZITEAEARIE R HPCIETE RS ETO IS A
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T - NPTPYH Y7L [erompp) Gsas

V3JROUTE (BRI 3D)

[userl@scls lec_gromacs]$ cat script/grompp_npt.sh
#1/bin/sh

pjsub options
#PIM -L "rscgrp=small™ Y —=2T)—" [small]
#PJIM -L "node=1" fem/ — & 1)

e C10-00" B ARBERRS (105
#PIM -L "elapse=10:00 BETS—WHEBENICALS

Program Execution
module load Gromacs/4.6.2 gromppD={T
GROMACSIBBZE M DERTE X nvt.gro, nvt.cptld, SRICAR
export FLIB_FASTOMP=FALSE UIENVTOD#ERZfER LE T,

grompp_mpi_d -f mdp/npt.mdp -c full/nvt.gro -t full/nvt.cpt -p topol.top -o npt.tpr

3 A
[userl@scls lec_gromacs]$ pjsub script/grompp_npt.sh

[INFO] PJM 0000 pjsub Job 6293 submitted.
[userl@scls lec_gromacs]$ pjstat

VEPESRIE

[userl@scls lec_gromacs]$ less grompp _npt.sh.o

P- IRZITEAEARIE R HPCIETE RS ETO IS A



g - NPTP 29> 7)0 [mdrun]

topol.top
(FROY=2D21)L)
nvt.gro
(&I 71 )V)
npt.tpr
grompp P mdrun
nvt.cpt
(FyIMAY TP
mdout.mdp

npt.mdp (MD/XS%—=5D 71 L)

(MD/INSA=5D 7))

V370U L (MPl5 > 37)

[userl@scls lec_gromacs]$ cat script/mdrun_npt.sh
#1/bin/sh

pjsub options

-L ""rscgrp=small”

N =227 )b—"F [small]

-L "node=2" B/ — & 2]
--mpi1 "proc=32" JOs2# 32
--mpi1 "‘rank-map-bychip"
-L "elapse=10:00""

£ —RANOTOEIOEIDIRD DISFE
BRARBRE 107
BETS—-HBHEEEEHICAITD
Program Execution
module load Gromacs/4.6.2
GROMACSIZEEZHDETE
export FLIB_FASTOMP=FALSE

mpiexec mdrun_mpi_d -v -deffnm npt mdrunD=5F

ﬁ IRZITEAEARIE R HPCIETE RS ETO IS A

(§) SCLS

npt.edr
(ZRILF=D 7 1))

npt.gro
(Hi&ED 71 )L)

npt.log
@T27+1)V)

npt.trr
(FSYTORUDPAI)

npt.cpt
(FTvIOMRAIY TPV




TEHE - NPTP YY) [mdrun]

Y 3 J DIz A\ CIARETESD

[userl@scls lec_gromacs]$ pjsub script/mdrun_npt.sh
[INFO] PJM 0000 pjsub Job 6293 submitted.
[userl@scls lec_gromacs]$ pjstat

ACCEPT QUEUED STGIN READY RUNING RUNOUT STGOUT HOLD ERROR TOTAL
0 0 0 0 1 0 0 0 0 1
S 0 0 0 0 1 0 0 0 0 1

JOB_ID JOB_NAME MD ST USER START_DATE ELAPSE_LIM NODE_REQUIRE
6293 mdrun_npt. NM RUN userl 07/26 17:37:18 0000:10:00 2

Y 3 JRTHR

[userl@scls lec_gromacs]$ less npt.log

Core t (s) wall t (s) (€D)
Time: 32316.400 224 .516 14393.8
(QELEND) (hour/ns)
Performance: 38.484 0.624
Finished mdrun on node O Fri Jul 26 18:35:19 2013




TEHE - NPTP VYY)l [T ER0R) S)scis

npt.edr pressure.xvg
(ZRILF—=D 7)) g_energy (BT —927 7))

[userl@scls grolec]$ pjsub --interact

[INFO] PJM 0000 pjsub Job 6282 submitted.

[INFO] PJM 0081 .connected.

[INFO] PJM 0082 pjsub Interactive job 6282 started.

[userl1@a01-008 grorec]$ module load Gromacs/4.6.2

[userl1@a01-008 grorec]$ g _energy mpi_d —F npt.edr —o pressure.xvg
-) G R O M A C S (-:

Proper-Dih. Ryckaert-Bell.
Coulomb-14 LJ-(SR) Disper.-corr. Coulomb-(SR)

Coul .-recip. Position-Rest. Potential Kinetic-En.
Total-Energy Temperature Pres.-DC Pressure
Constr.-rmsd Box-X Box-Y Box-Z

Box-Vel-YY Box-Vel-Z2Z T-Protein T-non-Protein
Lamb-Protein Lamb-non-Protein

16 O 16 DPressureZ &R, 0[FADKRT

[user1@a01-008 grorec]$ exit
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T - NPTP YUY YT [EATHEROR)

Pressure
1AKI, NPT Ensemble

600 I

| Runnind Average

400 -

200 [+

Pressure (bar)
o
=
_——
__—

-200 H

-400

_600 | | | |
Time (ps)
/75773 . pressure.xvgZzgnuplot TER
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TEHE - NPTP VYY)l [T ER0R) S)scis

density.xvg

npt.edr
: g_energy i

(TRILF=T 7))

[userl@scls grolec]$ pjsub --interact

[INFO] PJM 0000 pjsub Job 6282 submitted.

[INFO] PJM 0081 .connected.

[INFO] PJM 0082 pjsub Interactive job 6282 started.

[userl1@a01-008 grorec]$ module load Gromacs/4.6.2

[userl1@a01-008 grorec]$ g _energy mpi_d —F npt.edr —o density.
-) G R O M A C S (-:

Proper-Dih. Ryckaert-Bell.
Coulomb-14 LJ-(SR) Disper.-corr. Coulomb-(SR)
Coul .-recip. Position-Rest. Potential Kinetic-En.
Total-Energy Temperature Pres.-DC Pressure
17 Constr.-rmsd Box-X Box-Y Box-Z
21 Volume Density pVv Enthalpy
25 Vir-xXX Vir-XyY Vir-Xz Vir-YX

49 Lamb—Profein Lamb-non-Protein
22 0 22T DDensity = &R, 0IFANRT

[user1@a01-008 grorec]$ exit
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T - NPTPY Y YT [R5 EE 05 Sscs

Density
1AKI, NPT Ensemble

1030 T

RunningI Average
1028 - .

1026 - —
1024 -

1022 -

1020

1018 | -

Density (kg m'3)

1016 - —

1014 - -

1012 -

1010 ' . ' L
0 20 40 60 80 100

Time (ps)

7524 . density.xvgZgnuplot THRMR
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Production

MD [grompp]

(§) SCLS

md.edr

topol.top (IRIVF=D 71V
(FROY=T 7 1)L
md.gro
npt.gro HED 71 I)
(&I 71 )V)
md.tpr md.log
grompp EIFTADIT P AI) mdrun @T27+1)V)
npt.cpt
(FyIMAY TP meUt.mdp md.trr, md.XtC

md.mdp
(MD/XS % =52 %1 L)

(MD/INSA=5T 7))

(SO EUTPAIV)

md.cpt, md_prev.cpt

(FTvIRAY TP

MD/N\DX -5 71 )b

[userl@scls lec_gromacs]$ less mdp/md.mdp

tcoupl = V-rescale RERT —1) VDA
pcoupl = Parrinello-Rahman /NJXO « 5 —V /A
NPTE#E{ED SR
RE (AR LE0N

E17855E(3E10ps (2fs x 5O00)
KEEDILHICRREBELTCNET

continuation = yes

gen_vel = no

nsteps = 5000

P; IRZITEAEARIE R HPCIETE RS ETO IS A
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Production MD [grompp] ()/)SCLS

V3JROUTE (BRI 3D)

[userl@scls lec_gromacs]$ cat script/grompp _md.sh
#1/bin/sh

pjsub options
#PIM -L "rscgrp=small™ Y —=2T)—" [small]
#PJIM -L "'node=1" fem/ — & 1)

e C10-00" B ARBERRS (105
#PIM -L "elapse=10:00 BETS—WHEBENICALS

Program Execution
module load Gromacs/4.6.2 gromppD={T
GROMACSIBBZE M DERTE % npt.gro, npt.cptld, SaICAR
export FLIB_FASTOMP=FALSE UIENPTO#ERZfERA LE T,

grompp_mpi_d -f mdp/md.mdp -c full/npt.gro -t full/npt.cpt -p topol.top -0 md.tpr

3 JIRA
[userl@scls lec_gromacs]$ pjsub script/grompp_md.sh

[INFO] PJM 0000 pjsub Job 6293 submitted.
[userl@scls lec_gromacs]$ pjstat

VEPESRIE

[userl@scls lec_gromacs]$ less grompp _md.sh.o

P- IRZITEAEARIE R HPCIETE RS ETO IS A



Production MD [mdrun]

topol.top
(FROY=2D21)L)
npt.gro
(&I 71 )V)
md.tpr
grompp P mdrun
npt.cpt
(FyIMAY TP
mdout.mdp

md.mdp (MD/XS X =52 71 L)

(MD/INSA=5D 7))

V30T (MPlsY 3 7)

P

RIKEH

[userl@scls lec _gromacs]$ cat script/mdrun_md.sh
#1/bin/sh
pjsub options

-L "rscgrp=small”

-L ""node=2"

--mpi1 "'proc=32"

--mpi1 "rank-map-bychip"

-L "elapse=10:00"

N =22 )b—" TsmallJ
A/ — R 2]

JOER# 32]

&) —RAOTOERDEIDIRD DIEFE
BRAFBRE 1079
ZETS—EHEEEREDICAITD

Program Execution

module load Gromacs/4.6.2
GROMACSIR IR ZHDEEE

export FLIB_FASTOMP=FALSE

mpiexec mdrun_mpi_d -v -deffnm md mdrunD=1TF

IRZITEAEARIE R HPCIETE RS ETO IS A

(§) SCLS

md.edr
(IRILF=D 21

md.gro
(Hi&ED 71 )L)

md.log
@T27+1)V)

md.trr, md.xtc
(FSYTORUDTPAI)

md.cpt, md_prev.cpt
(FTvIRAY TP




Production MD [mdrun]

Y 3 J DIz A\ CIARETESD

[userl@scls lec_gromacs]$ pjsub script/mdrun_md.sh
[INFO] PJM 0000 pjsub Job 6293 submitted.
[userl@scls lec_gromacs]$ pjstat

ACCEPT QUEUED STGIN READY RUNING RUNOUT STGOUT HOLD ERROR TOTAL
0 0 0 0 1 0 0 0 0 1
S 0 0 0 0 1 0 0 0 0 1

JOB_1ID JOB_NAME MD ST USER START _DATE ELAPSE_LIM NODE_REQUIRE
6293 mdrun_md.s NM RUN userl 07/26 17:37:18 0000:10:00 2

Y 3 JRTHR

[userl@scls lec _gromacs]$ less md.log

Core t (s) wall t (s) (€D)
Time: 258551.600 1795.520 14399.8
(QELEND) (hour/ns)
Performance: 48.120 0.499
Finished mdrun on node O Fri Jul 26 19:20:06 2013




Production MD [E17#5RD##1] (§)SCLS

md.tpr
(ERITADIT 7))
- md_noPBC.xtc rmsd.xvg
trjconv (FSYTHEUDTPA)) S (BT =52 7))
md.xtc

(FSITDOEUT PV

[userl@scls grolec]$ pjsub --interact

[INFO] PJM 0000 pjsub Job 6282 submitted.

[INFO] PJM 0081 .connected.

[INFO] PJM 0082 pjsub Interactive job 6282 started.

[user1@a01-008 grorec]$ module load Gromacs/4.6.2

[user1®a01-008 grorec]$ trjconv_mpi_d -s md.tpr -f md.xtc -o md_noPBC.xtc -pbc mol -ur compact
:-) G R OM A C s (:

Select group for output
Group 0 ( System) has 34440 elements
Select a group: O

[user1®a01-008 grorec]$ g _rms mpi_d -s md.tpr -F md_noPBC.xtc -o rmsd.xvg -tu ns
:-) G R OM A C s (:

Select group for least squares fit
Group 4 ( Backbone) has 387 elements
Select a group: 4

Select group for RMSD calculation
Group 4 ( Backbone) has 387 elements
Select a group: 4

[userl@scls grolec]$ exit
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Production MD [E171ERDEEMT] (5)5CLS

RMSD
1AKI, Backbone
0.2 I I T |
0.15 _
‘e
£
O 01t i
2
0.05 1
0 | | | |
0 0.2 04 0.6 0.8 1
Time (ns)

755 rmsd.xvgZagnuplot CTHRR
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Production MD [E{T#5 R D3] ()/)SCLS

RMSD
1AKI, Backbone (Crystal reference)
0.2 I I T |
0.15 |- -
B
N
A o1f .
2
0.05 .
O | | | |
0 0.2 04 0.6 0.8 1

Time (ns)
7526. rmsd_xtal .xvgZgnuplot TXRR

R miaEE AL ST HPCEHEESRSHETOTS A 44



Production MD [E17#5RD##1] (§)SCLS

md.tpr
(RITADIT 7))

gyrate.xvg
g—gyrate LT —52T 7))

md_noPBC.xtc
(FSYTORUT P

[userl@scls grolec]$ pjsub --interact

[INFO] PJM 0000 pjsub Job 6282 submitted.

[INFO] PJM 0081 .connected.

[INFO] PJM 0082 pjsub Interactive job 6282 started.

[userl1@a01-008 grorec]$ module load Gromacs/4.6.2

[userl1@a01-008 grorec]$ g _gyrate mpi_d -s md.tpr -f md_noPBC.xtc -0 gyrate.xvg
-) G R O M A C S (-:

Group 4 ( Backbone) has 387 elements
Select a group: 4

[userl@scls grolec]$ exit
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Production MD [E171ERDEEMT] (5)5CLS

Radius of gyration

1.5 T

1.48 - -

1.46 - -

1.44 - -

1.42 - -

14 —

R, (nm)

1.38 | -

1.36 - -

1.34 - -

1.32 -

13 | | | |
0 200 400 600 800 1000

Time (ps)

757 . gyrate.xvgZgnuplot CTRmR
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GROMACSIC DU\ T SscLs

GROMACSICREI DBHR. Y2 7)b. YV—RAO—FAFRIE

http://www.gromacs.org/
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